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Let him also teach a Reveyee by Terumoh — 7731702 Y37 %1 %Nt

OVERVIEW

The X 13 states that °01° " does not agree with 82°py "1 (that there is a 12172 "WoW),
for if he did, > should have taught a *¥>37 by 70 (not only a *w*>w).! mooin
comments that the X723 could have brought another proof as well.
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And the X773 could have just as well said, if °"7 agrees with ¥''9 that there is a
1M W -
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Why is it necessary for °"1 to derive a w723 S¥°29 through aY"'p from 2"y -
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We know that there is a wTp2 *¥°27 from the essence of the Po5, for since a
WOBY is PP9IMR RMAY (according to ¥") -
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We read here (apply) the P00 of Nt %22 wa° "wK =wam, etc. (which includes

192 wohY); just as °"1 expounds now regarding a wTpa WM that we know it
from this ?105.

SUMMARY
If there is a 1912 *w°2W there is no need to derive a WP °¥°27 through a 1"p, since
we know it from a ?105.

THINKING IT OVER
What is the advantage (if any) of m»on proof (over the s'X i proof), and why
indeed did the X3 not use it?*

! See 993 11"7 "1 that he should have utilized this 1"p; if a 2 120 who is 9nM by 1211 is 7N 01 so a whw
which is 9109 by 1211 (according to ¥"9) should certainly be 7170 01 (and make it into a *¥*27).

% See 2,m (at the bottom of the TmY).

oo (%) ®7p". The pioo states that if the wTp w32 touches anything which is Xav (Xnv 933), it becomes 2109,
therefore if there is a P72 *w 7w (as ¥"1 maintains) and the w7 w2 touches it, it becomes a *¥°17; just as ™"
maintains that we derive from this 109 a WP *w2w (since there is [only] a P02 "W).

* See X"aw"n Mmoo,
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